

$$a_n = \frac{1}{r} \cdot r^n, r, \dots \quad a_n = \frac{1}{r} \cdot r^{n-1}$$

$$a_{10} = \frac{1}{r} \cdot r^9 = r^8 = 256$$

(الف)

$$\frac{a_{10}}{a_1} = \frac{a_1 r^9}{a_1 r^0} = r^9 = 256$$

ب

$$b^2 = ac \rightarrow a_8 \cdot a_{10} = a_1 r^7 \cdot a_1 r^9 = r^2 \cdot 256 = 1024 \sim \sqrt{1024} = 32$$

(ج)

$$\frac{1}{r} \cdot r^{n-1} = 128 \rightarrow \frac{1}{r} \cdot r^{n-1} = \frac{1}{r} \cdot r^9 \sim n-1=9 \quad n=10$$

د

$$\frac{a_1 r^9}{a_1 r^0} = \frac{94}{12} \rightarrow r^9 = 12 \quad r=2 \rightarrow a_1 \cdot 12 = 12 \quad a = \frac{12}{12} = 1$$

ه

$$a_n = \frac{16}{r^9} \cdot r^{n-1} \rightarrow \frac{16}{r^9} \cdot r^9 = 16 \cdot r^0 = 16 \cdot 1 = 16$$

$$a_1 \cdot a_2 \cdot a_3 \cdot a_4 \cdot a_5 = r^4 \rightarrow (r^4)^5 \rightarrow a_1 r^4 = r^4 \rightarrow a_1 = r$$

(الف)

$$a_1 \cdot a_5 = > (a_3)^2 = 9$$

ب

$$(r\sqrt{r})^2 = r^a \cdot r^b \rightarrow r^2 = r^{a+b} \rightarrow a+b=2 \quad \text{میانگین} = \frac{a+b}{2} = \frac{2}{2} = 1$$

ج

$$a_1 = 1-x \quad a_2 = x \quad a_3 = x+1$$

(د)

$$x^2 = (1-x)(x+1) \rightarrow x^2 = x+1-x^2-x \rightarrow 2x^2=1 \rightarrow x^2 = \frac{1}{2} \rightarrow x = \pm \frac{1}{\sqrt{2}} = \pm \frac{\sqrt{2}}{2}$$

$$a_1 + a_2 = 21 \rightarrow a + ar^2 = 21 \rightarrow a(1+r^2) = 21$$

ه

$$a_2 + a_3 = 12 \rightarrow ar(1+r) = 12 \Rightarrow \frac{a(1+r^2)}{ar(1+r)} = \frac{21}{12} = \frac{7}{4}$$

$$\frac{(1+r)(1+r-r^2)}{r(1+r)} = \frac{1-r+r^2}{r} = \frac{7}{4} \quad \begin{aligned} & 4r = 7 - r + r^2 \rightarrow r^2 - 5r + 7 = 0 \\ & r^2 - 5r + 9 = 0 \quad (r-9)(r-1) \rightarrow r = \frac{9}{2} = 4.5 \\ & \rightarrow r = \frac{1}{4} \end{aligned}$$

$$a=1 \quad r=3 \quad a_8 = 1 \cdot 3^7 = 2187$$

$$r = \frac{1}{4} \quad a = 2r \rightarrow a = \frac{1}{2}$$

$$\frac{x}{r} + x + xr = 1^0 \rightarrow \frac{1 + 14r}{r} = 10 \rightarrow 1 + 14r = 10r \rightarrow 14r - 10r + 1 = 0$$

(۷)

$$\frac{x}{r} + x + xr = 1^0 \rightarrow x^0 = 1^0 \rightarrow x = 1^0$$

$$x \rightarrow 14r - 10r + 1 = 0 \xrightarrow{(5)} r^2 - 10r + 9 = 0 \quad (r-9)(r-1) \Rightarrow \begin{matrix} r=9 \\ r=\frac{1}{9} \end{matrix}$$

$$r=9 \text{ اول } \rightarrow 1, 9, 81 \quad r=\frac{1}{9} \text{ اول } \rightarrow 9, \frac{1}{9}, \frac{1}{81}$$

$$a_n = 1, 9, 81 \rightarrow a_n = 9 \times 9^{n-1}$$

(۸) الف

$$S_n = a \left(\frac{r^n - 1}{r - 1} \right) \rightarrow S_{10} = 9 \left(\frac{9^{10} - 1}{9 - 1} \right) = 141144$$

ب

$$\rightarrow (a_0)^n = (a_0)^{10} \rightarrow a_0 = 9 \times 9^9 = 9 \times 81 = 144 \rightarrow 144^{10}$$

۴) همان می شود ... $a_0, a_1, a_2, a_3, \dots \rightarrow a_0, a_1, a_2, a_3, \dots$ مثلاً

$$a, ar, ar^2, ar^3, \dots \rightarrow ar - a, ar^2 - ar, ar^3 - ar^2, \dots$$

$$a(r-1), ar(r-1), ar^2(r-1), \dots$$

$\xrightarrow{ar}$ $\xrightarrow{ar}$

نسبت ثابت است

$$a_1, ar, ar^2, ar^3, ar^4, \dots, a_n$$

(۹) الف

$$a + (a+d) + (a+2d) + (a+3d) + \dots + (a+(n-1)d)$$

$$na + d(1+2+3+\dots+(n-1)) \rightarrow na + d \frac{(n-1)n}{2} = \frac{n}{2} (2a + (n-1)d)$$

$$S = a_1 + ar + ar^2 + \dots + a_n$$

ب

$$S = a + ar + ar^2 + \dots + ar^{n-1}$$

$$rS = ar + ar^2 + ar^3 + \dots + ar^{n-1} + ar^n$$

$$S - rS = a - ar^n \rightarrow S(1-r) = a(1-r^n) \rightarrow S = \frac{a(1-r^n)}{1-r} \checkmark$$